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WWW 4 Y3 -uH World Wide Web ©9. .......... A d-l Al s HiHi 21d 8.
(A) 2. Audun @z i
(C) %. 2. [3ell (D) R Ay

‘523" Aoil8d 1A [Qan-l WA suy/sy (A /0 e ?

1. MIRAHL tinig uaH 5122 Rl gq, d Rt Saszilas siuian 2iis SRuu gl saHi 20y sd.
2. UIgUH’ 2 GIMLURHIG, A 5 gLl [Asuaauni 2udg JuR sinyeR O,

3. AU Ha UL HIRA] g ¢ s192dgq 54 Al 2188 8.

(A) $5d 3 @512
(C) $5d 2 ¥ 3 (D)1,2,3%14
RURAHL W21 34 A S14HI .......... ASUL s1d Al ?

(A) 32ua (B) wuyR

(C) A @:coue

A ARUL 57% ARSI 61 6L HolladA W 530 (S AL al Houdu-l 2L sl 2udl 69, d suL
5169 ?

1. YU Ar, A4l

2. AU SR (A5t 2 dlou A&@

3. ot AA14A, Sl [Asi1 A dlou AaeL

(A) 144 2 @3

(C) 231 3 (D) Al A5 ual (&
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085.

086.

087.

088.

089.

090.

091.

092.

093.

094.

YuRig oty o4 o2l AR 2182 s36 uaH “Yeuuis ol (e A2 (puuld uaeu-)”
dl$ 2019 .......... L Sl 2L 6.

(A) NDRF L uiasl sreifduq @)\DRF - 84l (vusHl) vrai@u-
(C) NDRF -l £94] tre&u (D) NDRF l gl si2ifaun
QURdrlL A @il 2satiud-l [Damu 20184 s AU 9 d .......... 6.

A\ g A\

(A) vt u Hsudud, yalua Aisuiad @ avl ouofly 2sutiud

(C) uyri AAsuniud (D) BuRisd W4l 81 -l

209 28 1d%1R 2019 e(Raur S22 d [Fen F2dlad 2415 S-Elun 2019+ puadiort sui sAURI 2u & ?
(A) 4o1s @-u

(C) ndl [2&d) (D) sloug3

(A2l Alell ogrll 244 ALl Ay ulalsa 2[R gried Un g 6 ?

(A) 374 2iurt (B) 4. 2. ilu-t

@) (crores ARuAeNY (D) 222 [Au Aiun

aAlgaui 2 ol 20 ogens e Yol (31 g1 58 a2 g 50U¢s Ha eu s ?

(A) 200 12 €lsui 1 + 400 Hl22 gisui 4 (B) 200 122 €isHi 2 + 400 2R €isui 3
(C) 200 12z €isui 3 + 400 122 €isui 2 @200 #0122 €iswi 4 + 400 e €isHi 1
Y3l FA[R 5L Yrigdd - 56 M WA AsouAA € ?

@:oa (B) 400 Hl2? €13

() [332 (D) A

Sreaund 512 215 ¥AA (1CJI) Ui S1dril MRl RuAlBad UM .......... 8.

@:adz cicidl (B) %2 HeA dISR

(C) -wdi+s [ (D) RYrier AU UISS

AES Girseil AdHLL AARAE SIS ?

(A) Braua-u suifan @: s rucun

(C) [y ula [3u (D) 2igal siwd

ABARHL [Brew- g H-Al o2 MRl Hori uaH Alue sl e ?

(A) 2l le onlae (B) #ll zudis aul

(C) ol RM yrus @)2o0 200 yavda

-\

2AMAL 58 B2l Us§loL Sl 33U Y51EL 2ud d 2490 1000 5122 25 Weud 512 vi-iiacu-l wlsu 22
21521042 2019 ofl w3 w9l ?

(A) Hio (R @l
(C) rlleoid) g el 10, -y (D) 2udsaue
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095. ‘Gl et LS AoilAd A ausal awxdl.
1. uai2a AURs A-Hn 8.
2. sa AU e [Asun, wdolAs A duey G Gualth w2 xruu 9.
3. ‘iR el B3t L v (=512 A AdauiA oi-uda 9.
4. MRAHL AURHA $HUL AR lSd 74 e 21 Sdl 5oll42 HAl AHsel e 1l 69,
G5t [Qen-il WAL sd/su (Al /006 ?
@51 204 (B) 85 1 11 2
(C)$5d1,2¥1 3 (D)1,2, 314

096.  [532 aed su 20194 =y BArs-1L s EuR A4 @R viis L A0 N8R sAdA gL ?

(A) 6 215U (B) Sl HidiA
@ [aluxun (D) W2 &
097.  dipdui Sedl-l uuiel (Auc) vid 2udied aes yRafhid s 20194 .......... 24 100 Hl2R €isHi
AUE HIH Dl el ?
(A) Y2l (B (B) sl vl 4. Gw
@50 e deie (D) il Hsua &
098.  526lld e 54 2018 1A AsUAA Al 2 58 [A2ucl e 2uuami 2ud € ? d-l gl | 24 11 - uiou
3ld A3l
el | el 11
1. Qs g2 a. a¢d suni Aldl ay dld a1 ted
2. &3 sld b. 2lgl 2Aie9 udl 518 AR A
3. QU3 oAl c. WAuR s 4l grild-ed
4. $3\@ di§ d. a4 su-iL 8 dud Slurq
(A)1-a,2-¢,3-b,4-d (B)1-b,2-a,3-¢c 4-d
(C)1-¢,2-d,3-a,4-b @:.-22-c3-d4-b

099. Gl a1 (Mollas A3a) A 51 axd 3 Gewell [Alve Aloilas 2o cald 8, B vidsld 520l [32
AW 24 2070 AR U352 URL LB ARHE N8R $AAA 8, U, N2A-u U 56 Uigs2 AL AHA Acdl Al ?

(A) PR g2 AS Azl (B) callRa-ig 2is {2+l e yeull vuyd
@::0u 51y (D) Al diedl siyiq silBis

100.  SAar AL 201841 SHAAAA LA 22 A5 wNvUAL SIUEL YR sUl O d-l e 8d
.......... Sadardl g ol

(A) 213060 @:x
(C) ugel (D) 3o
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101.

102.

103.

104.

105.

106.

107.

108.

100.

Yo, Guallial [Asdue wwel A U5 sy Hisas eald © ?

(A) $5d Aluiad GuALBidL-l asHl A51AHS QUL

(B) $5d 54 GuABiat as-l g2dl (oL

@: 5 Duia GuaBrairt as-l g5R1Hs Gl

(D) $5d Aluia GuABidi-l asHl ASIAHS A Abldl (2L

A2l A5l 51RAHS 2l s1ES uR [Big A

(A) 2d2ll U202 &R SSAML 2Ud 69, (B) G2 Aluid Guallidl s8ami 2ud €.
@)1l A €2 sduni »ud ©. (D) Acd AlHid GuallRiar s8aimi 2ud €.
A2l A% Y-l 9L ollRatin Sl €9 iR

@ il 215 ool wde ad s 8.

(B) Alos azgil 15 olloa-l 4yel »°1dw 2 A3,

(C) Moy argil y2s asd a3

(D) 0o arqil AyRl 2142 viaa Aysi ys ad as 9.

[Gig, Raldazaiusdr s ua [Bigat uflu wiv-u wea Bag

@5 52 20 S 8. (B) ¥is uHIL SU B,

(C) 2trid gl 8. (D) 25 $2cL Ay iU 6.
A0<e<l duiolag sl asiasd

(A) Rafzaus 8 @0 Ralazas ©.

(C) 2iyul Ralaaus 9. (D) @iyl Bir-Raldaus .

oA HidL as vlly Slu dl §4 2048 as
i, A3%UA-L Al 310 BUR dRs 2 utdl d HenH [Big Yl usia ©.

i, driL HeTiu [Big uedl u .

2 A5 dlnil 120 oL vie 53U,

(A) $5d i (B) $5d i
@i i v (D) i A ii Hid) 516 &

G-l Yo [Ragia, - dd 56 1Ll Gur 3 ¢ ?

(A) WA Bewrg it ulRoioi-iL AlHid Geure scumi atiRl.

(B) Gewg it uReavii-l atdl ol ug (Bt As1RucHs U219 Bulg sl
@G e u uRoiiAl uadl uig [Bi AsiRiens a3 GAne sl

(D) HiAA Gewg Al uRevii- Add §& Gewe sell

535 vl (o A ~a) uR, Beurg-it uRowile Aluid Gewe

(A) 851RUcHS (B) 15121cUs

@ (D) ¥t-id

Bewer $14: Q = 6x2 + 3xy + 2y? (Ui Q = Ugl/Beug, 2 x = AH A=A y = Y4l), Al MP, 611612
.12x + 3y (B) 3x + 4y

(C) 12x -3y (D) 3x — 4y
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101. As per the cardinal utility analysis, which of the following indicates the demand curve for a
product?

(A) Negative segment of the marginal utility curve only

(B) Falling portion of total utility curve only

.Positive segment of the marginal utility curve only

(D) Positive and rising segment of the marginal utility curve only
102. The negative slope of an indifference curve at any one point is called

(A) Average rate of substitution (B) Higher marginal utility
.Marginal rate of substitution (D) Constant marginal utility
103. Indifference curves are convex to the origin and therefore

@) Commodities can substitute one another

(B) Commodities are perfect substitutes

(C) Commodities are complementaries

(D) Commodities may be either perfect substitutes or perfect complementaries
104. The point elasticity at any point right to the mid-point of a linear demand curve is

.Less than one (B) Equal to unity

(C) Infinity (D) More than one
105. If 0 <e <1, we say that the demand is

(A) Elastic .Inelastic

(C) Perfectly elastic (D) perfectly inelastic
106. If the demand curve is linear, the total revenue curve

I. Initially slopes upwards and reaches maximum point
I1. Declines after its maximum point
Choose the correct answer:
(A) I only (B) 11 only
.Both I and 11 (D) Neither I nor 11
107. The basic theory of production, in general, concentrates over the range of:
(A) Increasing marginal productivity of factors of production only
(B) Increasing but non-negative average productivity of factors of production
.Diminishing but non-negative marginal productivity of factors of production
(D) Constant total productivity of factors of production only
108. At the ridgelines, the marginal products of factors of production are
(A) Positive (B) Negative
.Zero (D) Infinite
109. Given the production function: Q = 6x2 + 3xy + 2y? (where Q = Output and x = Labour and
y = Capital), MP|_is equal to

.12x + 3y (B) 3x + 4y
(C) 12x -3y (D) 3x — 4y
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110.

111.

112.

113.

114.

115.

116.

117.

161 3041 Bl S1, AU Q = AKOS 04 d Yud & 3
(A) €2 UR Ydd AR @:- u2 u2q ana
(C) ANdR &R UR dHIRi (D) £ UR A51RAHS ANdR

2u4[As Gewe yeurit Rugia Yoo, A4 WA sy wqadl su-ll wa-l 21-und gaudii 21w eald
8?

(A) 251 2U0UL ARRAA A BeUlg L YUl Al AHAR /UL HLOL

(B) AlMid Gewrgt HEU-L as-il d2dl M1l

(C) 251 2utuiL u2AA & Geurg L Heulrl asil Al ML

@):st w3 A Geuet e as-l 2l |l

AU 54 Bewer Heurll as-l =yriaH (g

(A) A2 AA Beulet HEU asil Yridu [Bigl si0ll ouggi aw ©.

@222 2 Gawne Y as yrau Big-l nsll sugga wa 8.

(C) d [Big a9, opul Aluid Beure YU as AN AA BUle YU as- $1U 9.
(D) d [Bigt a9, wui Auid Gewen Heu as A Mfad Bauen yeu asq s 8.
54 Gewg L Yeull aloL Jud 99,

(A) AIAA A4 YR (B) u3R1a g4 vl

(C) a3 Rad wal @) Duia v

Uél-it uudtd Rigid AgR :

@)ool cuqaii £ AlssA e WA (Lure) Yl $u Y.

(B) AU €2 AL55A $E-1L AR vraallA slu 8.

(C) AL € ALS5A $E-UL AALL 61812 HenH iU 9,

(D) AU $E-1 HiREL 22l €2 U SIS 2R .

$4 Bewgr Yeurll 1ML TC = by + byX1+ bX2 + byX3 (i TC = $4 Bewert Y w1 X = §4
Bawgr), di by¢ed

(A) U202 A4 Bewg Y& (B) 54 A4 Gewe &

@« Aluq Gouwe yeu (D) 32U 54 Geule YU

a8dl Geurg Yeurll viazml AHAL AsURSIRUL 51281 v MR 82 (Dead weight loss) HRAGIR :

@) Gucisairu auRimi vz 2 BAE s AHRLAL QLM A2l d$lad

(B) M=l BAug Slll AHIRHI V2

(C) GUALSALAL QIR QUM A BUlE 57Ul AHIRAL L5 AL dSlad

(D) H1ot BURLSLAL QUM vi2

‘oiy gqail 203 /[Ruldu’ U 2uad 4 ¢ d,

(A) a1 54 v [ EERNDIREE

(C) A2 A v iy UM (D) A2 A vl ay uweL
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110.

111.

112.

113.

114.

115.

116.

117.

If the Cobb-Douglas Production function is of the form Q = A K5 L%4, it indicates
(A) Constant returns to scale .Decreasing returns to scale
(C) Increasing returns to scale (D) Negative returns to scale

According to the modern theory of costs, which of the following represents the existence of
reserve capacity with a business firm?

(A) Horizontal portion of the short run average total cost curve

(B) Falling portion of the marginal cost curve

(C) Rising portion of the short run average total cost curve
.Horizontal portion of the short run average variable cost curve

The minimum point of the average total cost curve occurs

(A) To the left of the minimum point of the average variable cost curve
.To the right of the minimum point of the average variable cost curve
(C) At a point where marginal cost curve cuts average variable cost curve
(D) At a point where marginal cost curve cuts average fixed cost curve
The slope of the total cost curve denotes

(A) Average variable cost (B) Average total cost

(C) Average fixed cost .Marginal cost
According to the traditional theory of firm,

.Economies of scale exist up to a certain size of plant only

(B) Economies of scale exist irrespective of the size of plant

(C) Economies of scale exist beyond optimum size of plant only

(D) Size of plant has no bearing on economies of scale

In the total cost function: TC = by + by X!+ b,X2 + byX3 (Where TC = total cost and X = total
output), by represents

(A) Average variable cost (B) Total variable cost
.Total fixed cost (D) Average total cost

in case of increasing cost conditions, the dead weight loss due to the presence of monopoly is
equal to the:

.Difference between the loss in consumer surplus and the gain in producer’s surplus
(B) Loss in producer’s surplus only

(C) Difference between the gain in consumer surplus and the loss in producer’s surplus
(D) Loss in consumer’s surplus only

At “closing down point’, the firm covers

(A) Its average total costs .Its average variable costs

(C) Less than average variable costs (D) More than variable costs
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118.

119.

120.

121.

122.

123.

124.

125.

126.

MR = P(1-1/e), 204, S14 IR MR = 0 24 P = 10 8ld dl ‘e’ 61642

(A) 2 @-s wun
(C)10 (D) 0.5

MC = 40 11 MR = 100 - 4X, di X (Bud

(A) 4 (B) 40

(C) 70 @5

Yl WlAulBidl si2nul Agan drs Yast ad o, AlHid sEdun

(A) BUAiSdL a8l 211 Bengs a2

@i Guetisan 2 Geunes a2

(C) Bewgs a8 v Guisdl a2

(D) 6 GRSl w1 Bewes Al

215 A5UR5RS dl Beue WIS 6] FEL YEL L1ANR WA LEL MLl A & AR d-l s8aud €9,
(A) [guslla vis1(EsR (B) »is3a852 (Monopsony)

(C) AsiAsR (Monopoly) @i cuaysa =sBsr

25e2 glMalAyel xneuBisu (sqlaa lanuila-u/Collusive oligopoly) s12d UM €35 AU
UM $1naaHi 20dd Baungnid Ul

(A) Alan A0 YL HISL AU Beulet HEU A1 AS0UAA Sl 69,

(B) Al A6 ULl WA 58 A2 ASUUAA S1A 69,

(C) [Aud sHl AeA UL HIAL 58 1 Astuda Slu 69,

@) (cu s1ell ueu Ul st w12 Bewg e WA Asndd §iu g,
grile [guall Ayuni (sy2iuidl Hidani) oind sudli-u Gaugsl dii-l uruR [Aeddl 20 8 x4
URUR 25U 69 IR AU Gewet

(A) Ugial o eual @ iciaqi 134l cuol
(C) ugial 6l gdluia cudt (D) Ugla-l 25 Agaia
$UL 612012 HINGIHL AlHid s as5HL 2ALARL AL HOL e ?

(A) [guslu 2=siBs/Sn0:i

(B) [gusll

@) wia [asduw (Kinked demand analysis)

(D) »is@sR

grile-ut [guall -3l (Duopoly model) A Geulg 1 Heu s AL HidLL HIREA sorcn 530 1A U4
s18L gL sul

(A) S. A, ARl (B) t2i~3

(C) sanR @2 sa0l

“H8 215 U 154l 52 O 3 Al s12a yeudl (e Aa) Dl cud da 529 ], uid d2il di-l daw
ugfr uRaldd s2a1 3sd 97 d-l :Aeed

(A) a2yl (B) Bewig~t daslad

(C) MAH UHIS HEMIA @it BHa dasiaa
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118.

119.

120.

121.

122.

123.

124.

125.

126.

Given MR = P(1-1/e), if MR =0 and P = 10; ‘e’ would be equal to

(A) Zero .Unity
(C) 10 (D) 0.5
Given MC =40 and MR =100 - 4X, the value of X is
(A) 4 (B) 40
(C) 70 @5

In a perfectly competitive market, as the supply increases towards equilibrium level, the marginal
surplus of:

(A) Consumers’ increases and Producers’ decreases
.Both consumers’ and producers’ decreases
(C) Producers’ increases and consumers’ decreases
(D) Both consumers’ and producers’ increases

A monopolist charging two different prices in two different markets for his product can be seen
in

(A) Bilateral monopoly (B) Monopsony

(C) Monopoly .Discriminating monopoly

In the Cartel form of collusive oligopoly, the volume of output allocated to each member firm is:
(A) Directly associated with the member firm’s average cost only

(B) Directly assocfated with the member firm’s size only

(C) Inversely associated with the member firm’s size only

.Inversely associated with the member firm’s average cost only

In Cournot’s duopoly model if the producers of the two firms recognize their interdependence
and collide together, they would produce

(A) One third of output .One half of the output

(C) Two third of the output (D) One quarter of the output

In which kind of market structure we observe discontinuity in marginal revenue curve?
(A) Bilateral monopoly

(B) Duopoly

@) Kinked demand analysis

(D) Monopsony

Who has modified the Cournot’s duopoly model by relaxing the assumptions of identical costs
and identical demands

(A) E.H. Chamberlin (B) Bertand
(C) Fellner .Stackelberg

“The firms agree not to sell at a price below the cartel price, but they are free to vary the style of
their selling activities™ refers to

(A) Price competition (B) Product differentiation
(C) First degree discrimination .Non-price competition
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127.

128.

129.

130.

131.

132.

133.

“daifda nda-l 2ugisin x1eusds AsEsA (laiuif@ea/Oligopolists) MAW (BHd St
QUL SRl 2l AL 6.7 2L UL Sl Huu aaL e ?

(A) waaia Al Hullzd BHa Rugia @i uilRa Bud Rugia
(C) awdadl-n Hullgd Bud Rigia (D) uil3aau-l-u walled [Bud Rugia

AudiA Al Hailzd eua Ay desd A [Qa g,

i 25 UAIDUL AR USIRAL AHIAA A1 69,

i, 2 sl veusads AsEsRA (lanuidl) susia 6.
iii. 2 [ 2eusas visilEsi-dl (ilauidl)

iV, d €2 AR AL U 208RA D).

2 A5 dlnil 120 oL vie 530,

@5 i, i wAiv (B) S5 i, iii 24 iv

(C) 85 i ur iv (D) 5 i A i

Beurg il 2uas uRad el d- ay A1 5 ay v 2192 1 usdl Siudl d
(A) A AU (B) ®UQ AR

(C) 2Uds AU @) uasui anar (G

Gerflc as [Asduat eed AlaA-u [l ol :

i elSHl uldau- aHie Gerdldl as u i 6.

i, (85l ulcrenu- axiq Gerdl as uz i ©.

jii. eAle41l uleRenu- 2112+ ald Al Gerflal as drs au 9.

AL A5l A1 Faol uie 2.

(A) $5.i, ii A iii (B) $5c i A1 i

(C) 5. iii @5 i v i

sEURL WA Yorod Apad [ARHA $AR asL el ead © 5

@221 Guciioi azd wag A [Qazw

(B) Udlil a2l ulReiti U2l s1aaH [dde

(C) UR2l Budldldl 423 Hidd ay/iel s [Aae

(D) uRewnl a2 e U2l ag/uel s [Adw

SEURL AL A Yorod {1 U 53 Bulodldl Hean seu v1azay/Rald eald © ?
(A) §+24 7|2 YEL (B) uHIY SRR 512 U2 518 uLL Yel
@uic/scna ya (D) GualPidr 2sudL A+ U 515 uaL Hal
2 WAL sl yRastu azsl 8, ¢ @ue weulasi: eisin Rugid © ?

o™i qASeRL i, els el v, ulRalH

AL A5l A1 Fael uie 2.

(A) $5d i, ii 27 iv @ssi i i iv

(C) 85 i, i A iv (D) 5. i A i
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127.

128.

129.

130.

131.

132.

133.

“Due to the threat of potential entry, the oligopolists set their actual price below the monopoly
price” - this proposition is the main feature of

(A) Sylos-Labini limit pricing theory .Bain’s limit pricing theory

(C) Bhagawathi’s limit pricing theory (D) Modigiliani’s limit pricing theory
Read the following statements in respect of the Sylos-Labini model of limit price:

I. Technology consists of three types

I1. It is a case of homogenous oligopoly

I11. It is a case of heterogeneous oligopoly

IV. It is based on economies of scale barrier

Choose the correct statements/answer:

.I, Il and 1V only (B) I1, 111 and IV only

(C) I and IV only (D) I 'and 11 only

If the consumer is neither better off nor worse off due to a change in his money income is known
as

(A) Substitution effect (B) Price effect

(C) Income effect .Compensatory variation in income
Read the following statements regarding indifference curve analysis:

I. Slutsky’s substitution takes place on the same indifference curve

I1. Hicks’ substitution takes place on the same indifference curve

1. Slutsky’s substitution effect involves the movement from lower indifference to a higher
indifference curve

Choose the correct statements/answer:

(A) I, Il and 111 only (B) I 'and 11 only

(C) 1 only .II and 111 only

According to welfare economics, the points on Edgeworth contract curve of exchange shows the
.Pareto optimal distribution of goods between the consumers

(B) Pareto efficient distribution of factors between the firms

(C) Pareto sub-optimal distribution of goods between the consumers

(D) Pareto sub-optimal distribution of goods between the factors

As per the welfare economics proposition, which one of the following points shows the welfare
maximizing state of the consumer?

(A) Phantom Freight point (B) Any point on social welfare function
.Bliss point (D) Any point on utility possibility frontier
Which of the following are components of supply of loanable funds theory of interest?

I. Savings Il. Hoardings IIl. Bank money IV. Disinvestment

Choose the correct answer (components):

(A) 1, 11 and IV only @ . 11and 1vonly

(©) I, 1 and 1V only (D) Iand 111 only
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134.

135.

136.

137.

138.

139.

140.

141.

251 OUMUAE §A QrIRLl pUAs A §A AA Ballgd YL U AR

(A) 21752 s UG (B) 2uls cug

(C) A89d ML @) g

“Hdl uRRAMA 5 BHi 5151 vRwe i A S5 WG etiad ARasu 8.’ 4 8 —
(A) SR [R50l andR HIVES @221 vusuaie wugs

(C) e12la-l HUEs (D) GialH-Al HVES

UL AR Hd el AsURSIRU Wl Hun 22d

@ 21 A3 vl @A W2 astad, AsEsR wen aul 8.

(B) Hidrll [RRlaeauusaidl [Bud ay dx AsiBsR-0 wen auR

(C) [3Hd 27 Muid WA aAAAL astad ay dd 2stEsR- wesu -u-dl

(D) uidll Ralaarusdidl [Bud 24 da isUEs-l wen 2448

oL 511 D=500 - 100P 244 Y48l 514 S = 50 + 50P 2uUd Slu QU2 Adart [BHd trrieR
(A)5 (B) 4

@: (D) 2

51 AdIRAL HIS NAH 24 o]l SHHUI A Mied —

(A) dr/dQ = 0 and d?r/dQ >0 @) dr/dQ = 0 and d?/dQ< 0
(C) dn/dQ >0 and d?a/dQ =0 (D) dr/dQ< 0 and d?a/dQ =0

DA UL 518y, 2. A251A-) nor-t uala2iA YRlZad sa Sgu ulla wafEo ds-s-i Guaia
sul ?

(A) #id, dl. s-2iRilan (B) &\. ). suH-
(C) 2. S~ @)suios 3-2Alo1
& (A2l DA Qe ol :

i. BGlaxdl sz WA 2iesd, ey<0

i, WiorAiv-L dmdl W Aed, ey>1

iii. 2331 puagus wa Aed, ey>1

A2 A5 dlnil 120 oL vie 53U,

(A) $5d i (B) $5c i A1 i
(C) 5 ii A iii @ i »iiii
Al Q2 dee 1A [QaHl ol :

i, 2uas 21 AuRrl [AsA Yl 244 daqt Hiar o Gu [Rei 8.
i, 217895 siioroul wReradl sie 2icuaru .

A2 A5 dlnil 2120 oL vie 530,

(A) $5d i (B) 85 ii
@i i v (D) i 2 ii nidll 516 Al
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134.

135.

136.

137.

138.

139.

140.

141.

The excess of total revenue earned in the short run over and above the total variable costs is
(A)Transfer earnings rent (B) Economic rent
(C) Scarcity rent .Quasi-rent

‘A situation in which it is impossible to make anyone better off without making someone worse-
off” is said to be

(A) Kaldor - Hicks compensation criterion .Pareto - optimality criterion
(C) Bergson’s criterion (D) Benthom’s criterion
According to A.P. Lerner’s measurement of degree of monopoly,

.The larger the difference between price and marginal cost, the greater is the degree of
monopoly

(B) The larger the price elasticity of demand, the larger is the degree of monopoly

(C) The larger the difference between price and marginal cost, the smaller is the degree of
monopoly

(D) The smaller the price elasticity of demand, the smaller is the degree of monopoly

Given the demand function D=500 - 100P and supply function S = 50 + 50P, the equilibrium
price is

(A)5 (B)4

@: (D)2

The first and second order condition for profit maximization is

(A) dr/dQ = 0 and d?r/dQ >0 @) dr/dQ = 0 and d?/dQ< 0

(C) dr/dQ >0 and d?r/dQ =0 (D) dr/dQ< 0 and d?r/dQ =0

Who has used the technique of linear programming for the purpose of scheduling the procurement
activities of the US Air force?

(A) L. V. Kanthorovich (B) T. C. Koopman

(C) R. Dorman @) George Dantzig

Read the following statements about goods:

I. Incase of an inferior good, ey<0

I1. Incase of a luxury goods, ey>1

I11. In case of a necessary good, ey>1

Choose the correct statements/answer:

(A) I only (B) I'and 11 only

(C) I and 111 only @ nandim

Read the following statements with regard to Classical thought:

I.  Growth of income and employment depends on the stock of capital and wage goods
I1. There is no possibility of the existence of involuntary unemployment
Choose the correct statements/answer:

(A) I only (B) 11 only

@soth 1 and 11 (D) Neither I and 11
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142.

143.

144,

145.

146.

147.

148.

149.

PQLI e W2 lA-unidl sy/su1 -l Guala i ¢ ?

i ollgoudl ex i el cnlta/alolld Gue il s Hey €
[l A5l ulou el uie 2.

(A) $5d i (B) &5t i

@5 iii (D) 55 i 21 i
D20 WL s -weuni e Risidl wena 2518 ad als eald 6 ?
(A) i Adl- qurslu oren-u [Rugia

(B) ~ugu-ii u-flu orn-u [Rgia

(C) Slaat Bar-u -weu- - Rigia

@)rcat 333 waun enqu Rusia

e ANl 2UUA AAUMT 48U ARG % UAHT ASHRN B, d 515 WL Al saufiui

N

Rl sAas 8. dgeald e ?

(A) ARyaan Agar @2 2igan

(C) et Aloiof+ g (D) 351 HiRa[azu-l igan

Rl HidMl Ak HIE suGHIAAL ALGHAH Yool %L L% €2 8% UHIEL A, dl AASIR HidL
(A) 8% ad &9, (B) 8% a2 .

(C) 4% a8 69, @)+ w2 8.

S[Rurt 2uas 29 AU Rugidl Yoot sen-AauR Agand

(A) goucu Y.

(B) u3R12L Hidt [(Bud, a2 Yasl [BHd s2q1 ay 23l
@220 wiv Bua, u3ue yras Bud srie agl.
(D) A2 HidL [BHd, u3212 YRasl (Bud 521 21 asl.

Q115 A AuAL 51 C = 0.8Y A 2uA[F el 512 500 $A3 81U, dl A Agar Ry 4
(Y =C+1) s2g aa ?

(A) 2000 531 3R @250 5218 30
(C) 3500 4313 3[R (D) 4000 5313 3[R

(851 28 Ause Rugia oot eusiz 214 udas a2l Buulala 2ulls azuz ds €idl oau 8, 3+
AU

(A) algu aralds e u a9, (B) al&- gedl e u2 A 6.

@) uadwaids glgn e v wu 8. (D) algu ulBa g2 ux i 6.

S8 Wl 53 8 3, 516 Alsanil QU A 2470 S el e d qoilfa s =l ?
(A) R g3rzu [ IREEEE]

(C) WilZalazu-Q (D) [Ricznt 339

AJT - MASTER ] 11 P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


142.

143.

144,

145.

146.

147.

148.

149.

Which of the following is/are used to construct PQLI?

I. Unemployment rate  Il. Incidence of poverty  Ill. Infant mortality rate
Choose the correct statements/answer:

(A) I only (B) 11 only

.III only (D) I and 11 only

Which of the following quantity theories of money treated money as a durable goods?
(A) Neo-classical quantity theory of money

(B) Classical quantity theory of money

(C) Irving Fisher’s quantity theory of money

.Milton Friedman’s quantity theory of money

‘A set of strategies such that none of the participants in a game can improve their pay-off, given
the strategies of other participant’ - it denotes

(A) Samuelson’s equilibrium @) Nash Equilibrium
(C) John Timbergen’s equilibrium (D) Franco Modigliani’s equilibrium

According to Baiimol’s approach to transactions demand for money, if interest rate increases by
8% the transactions demand for money

(A) Increases by 8% (B) Decreases by 8%

(C) Increases by 4% .Decreases by 4%

According to Keynesian income and employment theory at under employment equilibrium,
(A) There will be inflation

(B) Aggregate demand price will be greater than aggregate supply price

.Aggregate demand price will be equal to aggregate supply price

(D) Aggregate demand price will be less than aggregate supply price

Suppose the consumption function of an economy is C = 0.8Y and planned investment is Rs. 500
crore, the value of equilibrium level of income (Y = C+l) will be

(A) Rs. 2000 crores .Rs. 2500 crores
(C) Rs. 3500 crores (D) Rs. 4000 crores

According to Hicks’s trade cycle theory, the interaction between multiplier and ~accelerator
leads to economic fluctuations which influence the

(A) Actual rate of growth (B) Natural rate of Growth
.Warranted rate of growth (D) Realised rate of growth

Who has propounded that the consumption of ah individual is not the function of his absolute
income but of his relative to the means of the other individuals?

(A) Simon Kuznets .Duesenberry
(C) Modigiliani (D) Milton Friedman
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150.

151.

152.

153.

154.

155.

156.

157.

ArARun auRia i e - [@Qu- g,

i, 2uasui ariRl 08 AlHid gl aunaHi a2ist i 6.
i, SR auna i aien duou w2 Qg ul ©.

jii. SR aua sl ugla [Bin a8,

2 Asdiniell wloy gaie uaie s3U.

(A) $5d i @i
(C) 85 i (D) i, ii 21 iii
QA (sl gl :

i st dpRusR, ¢ auia-i Auid ualedl A1y stecin & 214 d [Audld Ad 2ieu slad uglu 9.
i, QuRAA veu aqR s Yrudl ay xq sel A9 slu 8. (0<MPC<1)

ii. RS YU 1 3 vird a2 8. (1<K <o)

2 Asdiniell wloy gaie uaie s3U.

(A) $5d i (B) $5c i A1 i

(C) $5d ii 1 i @ i »iiii

A |+ Al =200 + 100 A Y + AY = 1200 + 400, cll A5 2URUSIR GIRAGR
(A)1 (B)2

(C)3 @-

ol 8ol wel eqaran-dl s@ vuas 3L 150 5208 8 (AdHiy/ag 2uas) 21 d-l auia-l Duid ual
0.58. 22l & 2uas 100 251 AHIRAL HI2 25 82 HIG HSAUR 52¢ A5 (FUAUFA A512) s+ %32
Q7

@0 75 5218 (B) 3[u1 50 5313
(C) 3[40 s218 (D) 3Ma 25 $218
Guoy treqal HIZ-IL WRd A s RN »ed :

(A) G s (B) A5 18
@0 (D) 52 Qa5

-

Q121 5 quuel AlHid Ual 0.5 8 21 Aluid A1 gl 0.4 B, % UUA A5 100 $2A3 F24 A8, ol
AU HASH] a4Rl

(A) 3[R 200 $218 (B) 301 600 513

@)z 1000 5218 (D) 3R 1200 5313

“Yap 21s AUl als vl asn” d Qw2 UE s sl w18 doil8a © ?

(A) [AlRna ey (B) H&ud W

(C) astad ysaglld wiel @)1z

A 51657 Halluiedl arwi 3[MaL 2000 HOL 24 gl €2 5 251 S1d el d Hell-l sia-l (Bua
(A) 3[R 1704.55 (B) 301 1804.55

@30 190455 (D) 3R 1950.5
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150.

151.

152.

153.

154.

155.

156.

157.

Read the following statements in respect of Keynesian consumption function:
I.  Marginal propensity to consume decreases with increase in income

Il.  Keynesian consumption function is applicable in the long run

I11. Keynesian consumption function is non-linear in nature

Choose the correct statements/answer:

(A) 1 only .I and 111 only

(©) 11 only (D) I, Il and 111

Read the following statements:

I. The size of the investment multiplier varies directly with the marginal propensity to consume
and inversely with the marginal propensity to save

I1. The marginal propensity to consume is always greater than zero and less than one (0<MPC<1)
I11. The value of multiplier lies between one and infinity (1<k<eo)

Choose the correct statements/answer:

(A) I only (B) I 'and 111 only

(C) I and 111 only @ nandim

If1+Al=200+ 100 and Y + AY = 1200 + 400, the investment multiplier equals to
(A)1 (B) 2

(C)3 @-

Atwo sector economy has a total income of Rs. 150 crore (current income) and its overall marginal
propensity to consume is 0.5. How much does a country need to invest once for all to increase its
total income (planned income) by 100 percent?

@rRs. 75 crore (B) Rs. 50 crore

(C) Rs. 40 crore (D) Rs. 25 crore

The ratio of induced investment to changes in output is called as

(A) Super multiplier (B) Investment multiplier
.Accelerator (D) Tax multiplier

Suppose marginal propensity to consume is 0.5 and marginal propensity to invest is 0.4.
If autonomous investment increases by Rs.100 crore, the increase in aggregate income will be

(A) Rs. 200 crore (B) Rs. 600 crore

.Rs. 1000 crore (D) Rs. 1200 crore

‘Money can be held as an asset’ pertains to which of the following functions of money?
(A) Medium of exchange (B) Measure of value

(C) Standard for differed payments .Store of value

If some receives Rs.2000 in a years’ time from a machine and the rate of interest is 5 per cent, the
present value of that machine will be

(A) Rs. 1704.55 (B) Rs. 1804.55
@rs. 1904.55 (D) Rs. 1950.5
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158.  “[3wie sLund ug)” (2ugmens uRll) vedq
(A) @216 -ug @A vuan ug
(C) Ayul Asd (D) 6ls g

159,  awldopus/sinfaa ois giar w518l -0/ RsRA 2 v 0w RIsyRA s d-l
uRAuMI/oA-A Meui 56 dd vidiauu & ?

ied i dul

2 A5 dlnil 121 oL vie 530,

(A) $5d i @i

(C) oA i A i (D) i 2 i widll 516 A&

-\

160. RS A UHA YRITR (CRR) Ae™ Al [t ail.
i, %ed 2y CRR d2g ay rwyse R
i. B2y a4 CRR d2dl 20l aua eusi-l Bua
iii. ¥2¢ Uy CRR dag -ug, 8w [Anla
iv. %¥2¢ g CRR d2dl -u-l aum ypusiz-l (Bud
2 Asdiniell Al waie uie s2U.
(A) $5d i @i
(C) 85 i ur iv (D) 85 ii 2 i
161, olRAYUAAL gecdl €2 Sl AR
(A) 518 eiioudl idl -l
(B) goual-l Aelds €2 ganall AURA €2 $cL 2Ll 81U €9,
(C) gona-ll 2ulBid €2 goua-l Aalds €2 sl 2l siu 69,
@):oucu-it fas e gouaru wU@d €2 wd 1AL SU Y.,

162.  cuRdld [Rosd 615 g1R1 GUALIHE ML AL AR YRASLAL HIUA HOL : ASIHL AARL + G151 WA HidL
Bl + RBI wiRi-l oilew el vi2d

(A) Mg @v.
(C) M, (D) M

163.  -lA-umidl s4 25 5324 s15-U- (Federal Finance) -l clai@san -ell ?
(A) 2UASL A WAL Al S5 i AU U510 A2 adAHi 2ud 89,
(B) 5% 512 A% 2045 Aty uld 9.
@15 2= Ad 35 s a2 udl w3 S.

(D) tlaRRML S% 217 AULAL SR & 241 LR w2 v sami 2ud) 8,
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158. ‘Fiat paper money’ is

(A) Convertible money .Inconvertible money
(C) Full bodied money (D) Bank money
159. Investment in government securities and other securities by a commercial bank is shown in its

balance sheet as

I. Liability Il. Asset

Choose the correct answer:

(A) 1 only .II only

(C) Both I and 11 (D) Neither I nor 11

160. Read the following statements with respect to cash reserve ratio (CRR)
I.  The smaller the CRR the larger will be the credit creation
I1. The greater the CRR the lower will be the value of deposit multiplier
I11. The smaller the CRR the smaller will be the credit creation
IV. The smaller the CRR the smaller will be the value of deposit multiplier
Choose the correct statements/answer:
(A) I only .I and 11 only
(C) I and IV only (D) 11 and 111 only
161. The natural rate of unemployment exists when
(A) There is no unemployment
(B) Actual rate of inflation is less than expected rate of inflation
(C) Expected rate of inflation is less than actual rate of inflation
.Actual rate of inflation is equal to expected rate of inflation
162. As per the measures of money supply used by Reserve Bank of India:

Currency with public +demand deposits with the banking system + other deposits with the

RBI, is
(A) Mg @v.
(C) M, (D) M

163. Which one of the following is NOT a characteristic of a federal finance?

(A) The sources of income and heads of expenditure are distributed between the central and
state governments.

(B) The central government provides financial aid to the states.
@)~ state is free to fall apart from the central government on its own.

(D) The jurisdiction and rights of the centre and states are clearly defined in the constitution.
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164.

165.

166.

167.

168.

1609.

170.

SerlL Ruen Yoo, [Alsalddl 2u (uadl an) xied
i, (A5l wara as iyl udl Raldaus oq 9.
i, Alsl AL ell=gA A53HL uidRd s 9.

iii. -ueugla Alla [Bru25125 o ©.

LA A5l A1 Fael uie 2.

(A) $5d i (B) $ 5 ii - i

(C) 65 i A i @5 i, ii 2

wsllu senlAsa Ui yoror, LML wslla/sculisa siellui

(A) “ueudl Alld Ayel 295125 €. @020 mior cnes i (Ban Rufrzawus 9.
(C) Vaurll Hior 24 ey w2 [Raldaus €. (D) as x xadl AHAAR <4l

‘52212’ L Ha el A6 247 Awenflu DA oid 2ulls auu-u Auani Binusizs 8. »u
‘sza1gl” Ay Hi wxlare ¢,

(A) B4 244 -4n (B) ez 5138 21 syaneidl

(C) A2 Anl3a 2 ARyl @) a5, s A ARl

‘IR 53U €2 52415 2L ARAM 2Ud 8, UR s+ 2UAs B2 €9° — d 58 oLl Yoo [Aua ¢ ?
@52 as B) [Blaw

(C) eilsHl 212 (D) A2 AU [ Bgd MAR

Daunidd sy [Qa gy 6 ?

(A) LM as W& 612121 gt ael 53 8.

@)LV as-i aun el usgt Gur s Sl 8.

(C) %R Rl YRaASL AHIRAUHE 204 8 AR LM as 3iell ds a ¢,
(D) 1R il G3ion 24091 1 89 AR LM as oHEll ds adt 89,
(B0t (R HEseHs il Yo G2

(A) S[E9d axtni [Buw vars [Rumq -l 6.

(B) uz1flu ugltziui (Beer nas f Ruuq sa- 9.

(C) AR vl [BRuarn uas [RAd sauql .

@)l uazenni Bl Guastdiq wHad REBia saxl 6.

nrsanslla vrdaui-l ydaiRen AR 51 Moni gaualrl €2 2 611U € 424 QUIR - AALIR
28 A5 6 ug @ltt W Hudl SIS AR el — U tustd Sl glRL a3l vudl ?

@) e 51533 (B) 2. 301y, [Blaza
(C) A2k Hrfla (D) B+ 2iefln
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164.

165.

166.

167.

168.

1609.

170.

According to Keynes, at liquidity trap,

I.  Liquidity preference curve becomes perfectly elastic
Il.  People convert their bonds into cash

I11. Monetary policy becomes ineffective

Choose the correct answer:

(A) I only (B) Il and 111 only

(C) 1 'and Il only @' nandim

As per the Classicals’ proposition, in the “classical range’ of LM curve,

(A) Fiscal policy is fully effective .Demand for money is interest inelastic
(C) Demand for money is interest elastic (D) LM curve will be horizontal to X axis

The ‘radicalists’ held the view that both monetary and fiscal policies are ineffective in managing
the economic problem. The ‘radicalists’ group consists of

(A) Hicks and Hanson (B) Milton Friedman and Duesenberry

(C) Gregory Mankiw and Barrio .Lucas, Sergeant and Barrio

‘When tax rate is raised beyond some point, tax revenue decreases’ - it is the main theme of
.Laffer curve (B) Phillips curve

(C) Crowding out effect (D) Rachet effect

Which one of the following statements is correct?

(A) The LM curve describes goods market equilibrium

.The LM curve slopes upward to the right

(C) The LM curve shifts to the left when the stock of money supply is increased
(D) The LM curve shifts to the right when the stock of money is reduced

The basic objective of quantitative tools of credit control is to

(A) Regulate the flow of credit into desired sectors

(B) Regulate the flow of credit into speculative activities

(C) Control the flow of credit in to stock market

.Control the volume of credit availability in the economy

According to adoptive expectations hypothesis, there may be a trade-off between the rate of
inflation and unemployment rate in the short run but there is no such trade-off in the long run
- it was formulated by

@) Vilton Friedman (B) A.W. Phillips
(C) Gregory Mankiw (D) James Tobin
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171.

172.

173.

174.

175.

176.

177.

-\

watil Wiot [Qei-u vUGam 2i0l Q- [Qaunl gl

i Sl -wenl wio Rigld vgauR, dist du-l dult sial e a1 sli-s|i AS 6.

i, 216l il HidtL LM Haro, ALSLAURW S GlL-3HT YEL YLEL U € YL YLEL UHIRIHI A5
CERR

A A5l A1 Fael uie 2.

(A) $5d i (B) 5 i

@i i v (D) i 2 ii nidll 516 Al

Amiedl 56 2iella-u wZsilaal AR I vifcrorm-) o 4l ?

(A) alsail 2416l Auln sc ay Aula urie 52 6.

(B) sl ay AU 5l vileY BWH Al ude 52 8.

@) 17 AR @2d 51 dur e,

(D) calEa2ii-t UiZsi[AUIML $ 5 Ut 244 Gliwgl AHIA 210 8,

SlRan sia 2ugla st azAl AxindL yad 6 ?

(A) 1A sa-l AL 241 Gy ol

@)1yt vzl 247 cdwralds Wl

(C) Aellds WA 21 @ydyd A5

(D) aRalds tlad A Gyayd WA

ol usteiril (i) 2UidnENA sHrg/Aaza Yetotsm 21 (i) [Asi 2idR’ eye a1l eua-uil ur [
w2 culd, siu e ?

(A) &R22A vt Are- @01 i [ailes

(C) Wtra w4 R (D) WUk 241 dlan

A6i[Ad 2nasl A AL (st WS astssiil adl € 24 212 U ugiaL ugll, d aead a3 s 6 d
@ u U ydarau (B) U yd=ieu

(C) [R1o12 6121 ydrueu (D) gl - A+ ydaurRuun

AU’ M HHald

(A) ASIR GIRL AlF2dR Al [RsaHi st

(B) USIR GIRL A S HIA UR Yes areandl sl

(C) vuroll &3t g1R1 admuusL e adi sl

@125 g i sy Aada st

A [Rd el ail :

i, gouarlL eonRl as SHA GURHl drs gl b edldl Slu 8.
i 25t ouunl (Bl as SHan Gur-l ars gl buagi suidl Siu 6.
iii. gonaru sona-l as SHa DAl drs el suogat sl Sl 8.
iv. 250 ouu-l [Blana as uau AL drs ngll cuagi soidl i 6.
LA A5l A1 Faol uie 2.

(A) $5d i 241 i @i 2iv
(C) 8%, i v iv (D) 5., ii A iii
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171.

172.

173.

174.

175.

176.

177.

Read the following statements about demand for money approaches:

I.  According to Keynes’ theory of demand for money, people hold their assets in either all
money or bonds.

I1. According to Tobin’s demand for money approach, individual simultaneously holds both
money and bonds in different proportions at different interest rates.

Choose the correct statements/answer:

(A) I only (B) 11 only
.Both I and 11 (D) Neither I nor 11
Which of the following is NOT an assumption of Tobin’s Portfolio Optimization Approach?
(A) Individuals prefer more wealth to less wealth

(B) Individuals prefer less risk to more risk

.There is no trade-off between risk and return

(D) Individuals’ portfolio consists of money and bonds only

The Keynesian cross diagram indicates the equality between

(A) Planned saving and ex-ante saving

.Planned spending and actual spending

(C) Actual spending and ex-ante investment

(D) Actual saving and ex-ante spending

Two publications (i) Reshaping the international order and (ii) The future of the world economy
on the possibilities for elimination of ‘development gap’ were brought out by

(A) Harington and Tinbergen .Tinbergen and Leontief
(C) Prebisch and Singer (D) Morris and Lewis

The relative income inequality tends to increase in the early stages of development and having
reached a peak, it begins declining - refers to

@) rvert U hypothsis (B) U hypothesis

(C) Singer Prebisch hypothesis (D) Marshal-Lerner hypothesis
Seignorage implies

(A) Profit earned from exporting software services by the government

(B) Profit earned from imposing tariffs on imported goods by the government
(C) Profit made from printing news papers by the private sector

.Profit earned from printing money by the government

Read the following statements:

I. Inflationary pressure curve always slopes upward to the right

1. Short run Phillips curve always slopes upward to the right

I11. Inflationary pressure curve always slopes downward to the right

IV. Short run Phillips curve always slopes downward to the right

Choose the correct statements/answer:

(A) I and 111 only . Il and 1V only

©) I, Il and IV only (D) I, 11 and 111 only
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178.

179.

180.

181.

182.

183.

184.

185.
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AAnidl sui 69 ?
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2 A5 dlnidl 2120 oL vie 530,

@i, i 24 iv (B) $5d ii ¥4 iv
(C) 8% i ur iv (D) 5., ii A iii

(st »idi-u siqi Ragia eald 8 3 3ui Alad 38 24 5l Y-l aHde A1 6 21 5l Y4l ‘A
sl R 52 69 ?

(A) S1K1R (B) 8213

(C) s1d s @Rl

[R5131 g121 Amonc yoror R Rauld 8t NA-umidl sy [(Rdeq w2 =l ?
(A) Wil Ay w125 9,

@2l ay €2 als wa ©.

(C) Adrt £ [Aals a3 W4,

(D) as-lEl waila it i 6.

DA WA sy [Asia-u -l Rugiadl uedia 4l ?

(A) aslSl wald A5 U 2uRa 9.

(B) 811 A5l YRaél dd-t HIlomil 5€ U 2R 9.

(C) 151, 81 YRasl A aslSl a2 uR 2uaRaq 8.

@152 At ciginn-u se uR 2uRa 8.

HisAHL ugld Yoo, 51 UL sRAGR

(A) SIV @sic+v
(C) S/C-V (D) CIC+V
A ugld 2uq12

i, g AeiBs A= sl il sild siueRi-l yRRalz ay vue 9.
i, 5t €2 Al4L o HI- yoeyd -1 08 e €.

jii. 751l €2 aRll Yeudl [QuRa gy 6.

A A5l A1l Fael uie 2.

(A) $5. i A i (B) $5d i

@5 ii (D) 5 iii

sl Al af@fd-n dsls 2t 0l 2A5125 ctrilcuHi i
(A) 2015 @016

(C) 2017 (D) 2018
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178.

179.

180.

181.

182.

183.

184.

185.

Whose growth theory states that ‘if actual wages exceed subsistence wages, population will
increase’?

(A) Karl Marx (B) Malthus
.Adam Smith (D) Lewis

Which of the following are a part of 4Rs strategy of the government addressed to control non-
performing assets (NPAs) of public sector banks?

I. Restructure 1l. Resolution Ill. Reforms IV. Recapitalization
Choose the correct answer:

@1, 111 and 1V only (B) 11 and IV only

(C) I and IV only (D) I, 11 and 111 only

Whose theory of growth states that capital includes fixed capital and circulating capital and the
circulating capital constitutes the ‘wage fund’?

(A) Kaldor (B) Harrod

(C) Karl Marx .Ricardo

Which of the following statements is NOT correct under stationary state as explained by Ricardo?
(A) Capital accumulation stops

.Population grows at a higher rate

(C) Wage rate will be at subsistence level

(D) Technological progress ceases

Which of the following is NOT a proposition of Classical theory of development?

(A) Technological progress depends on investment

(B) The supply of labour force depends on the size of the wage fund

(C) Profits depend upon labour supply and level of technology

.Investment depends on the size of the wage fund

According to Marx’s system, the ratio of profit is equal to

(A) SIV @sic+v

(C)s/c-v (D) C/IC+V

Under Marx’s system,

I.  The larger the industrial army, the worse are the conditions of employed workers
Il1. The rate of profit varies directly with organic composition of capital

I11. The rate of profit varies inversely with surplus value

Which of the statements is/are correct?

(A) I and 111 only (B) I only

.II only (D) 111 only

The statutory basis of Monetary Policy Committee was made effective from:
(A) 2015 @ 2016

(C) 2017 (D) 2018
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186.

187.

188.

189.

190.

191.

192.

In which of the Rostow’s stages of economic growth, we observe development of one or more
leading sectors?

(A) The traditional society (B) The pre-conditions of take-off
@) he take-off (D) The drive to maturity

‘Underdeveloped countries have to make lumpy investments in numbei industries simultaneously
due to indivisibilities in production function and demand and supply”. It was stated by

(A) W. A. Lewis (B) A.O. Hirshman
@) Rosenstein Rodan (D) R. Nelson

In which theory of economic development, we discuss about ‘stimulants are income generating
forces’ and ‘shocks are income depressing forces’?

.Theory of low level equilibrium trap (B) Critical minimum effort theory
(C) Big push theory (D) Unbalanced growth theory
Which of the following is NOT a feature of labour intensive techniques of production?
(A) Employment maximisation

(B) Use of simple and indigenously available tools

.Accentuate income inequalities

(D) Increase the supply of consumer goods quickly

Which theory of economic growth describes the growth process in three phases:
(i) induced investment, (ii) complementarity and (iii) external economies?

(A) Balanced growth theory

(B) Rostow’s theory of phases of economic growth

(C) Theory of critical minimum effort

@) unbalanced growth theory

Who has systematically explained the process of economic growtl/in his article “Economic
Development with Unlimited Supplies of Labour”?

.W. A. Lewis (B) Fei and Ranis
(C) Leibenstein (D) A. O. Hirshman
Read the following statements:

I.  Regional inequalities rise due to strong backwash effects and weak spread effects in poor
countries

I1. Regional inequalities rise due to strong spread effects and weak backwash effects in poor
countries

I11. Backwash effects will have favourable effects on economic expansion
Choose the correct statements/answer:

.I only (B) 11 only
(C) and 111 only (D) 11 and 111 only
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194.

195.

196.

197.

198.

199.
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A A5l A1 Bl uie 2.

@5 i (B) s5d i

(C) ot i A i (D) i 2 i wigll 516 A&

oAt AL 2l (A5 ugld 2021, Yawl Yo Adan Ss0
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(C) Al alg €2 Hf-u [Asa €2 521 el 82l

(D) H -l 244 BuaidL 43

% Y3i/AuMA tiRiousl nad 8 ug rdlds dart g2 Al ds 22 28 89, 2udl uRRAl x2d
(A) yael yai (Golden age)

(B) 43y yasl 21 (Limping golden age)

(C) Rl yael you (Restrained golden age)

@)1[25q yavl Yo (Bastard golden age)
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193.

194.

195.

196.

197.

198.

199.

According to Schumpeter’s theory of development, in a circular flow

(A) Same products are produced every year in a different way

(B) Different products produced every year in a different way

(C) Different products are produced every year in the same way

.Same products are produced every year in the same way

According to Solow model, the steady state growth happens due to one of the following:
@) Depreciation of capital

(B) Conducive environment for innovations

(C) Technical progress

(D) Upward shift in production function

According to Harrod’s growth model, when actual growth rate (G,) is greater than warranted
growth rate (G,

.The economy will experience inflation

(B) The desired investment is less than saving

(C) The economy will experience deflation

(D) There will be a fall in income and employment

According to Domar’s growth model, the economy will be in full employment equilibrium when
[where A1/l = growth rate of net investment; 6 = product of marginal propensity to save; and
o, = productivity of capital]

(A) Al/1 =olo @:2r1/1=0x0

©)Alll=alo D) Al/l=cxo/l

According to Kaldor’s model of income distribution,

I. The propensities to save of the wage earners (S,,) and the capitalists (S,) depend on the ratio
of investment to output

I1. The share of profit in income will not depend on the ratio of investment to output
Choose the correct answer:

.I only (B) 11 only

(C) Both I and 11 (D) Neither I nor 11

According to Joan Robinson’s economic growth model, under golden age equilibrium
.Desired growth rate of capital will be equal to possible growth rate

(B) Actual growth rate will be equal to warranted growth rate

(C) The growth rate of population will be less than growth rate of capital

(D) There will be underutilization of capital

“The age where unemployment prevails but real wage rate remains rigid downwards’ - such a
situation takes place under

(A) Golden age

(B) Limping golden age
(C) Restrained golden age
@)Bastard golden age
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200.

201.

202.

203.

204.

205.

206.

Read the following statements with regard to Hirschman’s theory of unbalanced growth:
I.  Convergent series of investments are influenced by profit motive

I1. Convergent series of investments are made by private investors

I11. Convergent series of investments are made in directly productive activities

IV. Convergent series investments are made in social overhead capital

Choose the correct statements/answer:

(A) L 11 111 and 1V (B) I, 111 and IV only
(C) Il and 1V only .I,Ilandlllonly
One of the pioneers of ‘endogenous growth’ theory is

(A) R.M. Solow .Paul Romer

(C) J.E.Meade (D) Joan Robinson

Read the following statements with regard to neo-classical growth model:

I.  For the steady state equilibrium, the growth of capital (AK/K) must be equal to growth rate
of labour force (AL/L)

I1. Under steady state equilibrium, income per capita remains constant even though labour
force is growing

Choose the correct statements/answer:

(A) I only (B) 11 only

.Both I and 11 (D) Neither I nor Il

Which one of the following is NOT a parameter of Gross National Happiness Index (GNHI)?
(A) High per capita income (B) Environmental protection

(C) Cultural promotion .Sustainable development

Nelson’s low-level equilibrium trap identified the interdependence of

(A) Population growth and per capita income only

(B) Per capita income and national income growth only

(C) National income growth and population only

.Population, per capita income and national income growth

Which of the following is NOT an assumption of Heckscher-Ohlin trade model?
(A) There are no transport costs

(B) There is perfect competition both in commodity and factor markets
.The production functions remain same between commodities

(D) All production functions are homogeneous of the first degree

‘At a set of factor prices on goods labour intensive, whereas at another set of factor prices the
same goods is capital intensive’ - it denotes

(A) Opportunity costs .Factor reversals

(C) Factor endowments (D) Factor price equalization
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207.

208.

209.

210.

211.

212.

213.

214.

Whose empirical study on Heckscher-Ohlin trade model revealed that the capital rich country
imported capital intensive goods and exported labour intensive goods?

.Leontief (B) N.S. Buchanan

(C) GA. Loeb (D) B.C. Swerling

Singer-Prebisch hypothesis primarily deals with

I.  The influence of business cycles on terms of trade of underdeveloped countries

Il. Immiserising growth and deterioration in terms of trade of underdeveloped countries
Choose the correct answer:

.I only (B) 11 only

(C) Both I and 11 (D) Neither I nor 11

Whose theory states that a tariff favours the factor of production used intensively in the import
competing sector?

(A) Heckscher-Ohlin (B) Singer-Prebisch
@) stolper-samuelson (D) Marshall-Lerner

Read the following statements pertaining to the current account of balance of payments of a
nation:

I. It includes trade in goods

I1. It includes trade in services

I11. It does not include gifts

IV. It includes direct investment

Choose the correct statements/answer:

(A) I and 111 only (B) Iland IV only
@' and 11 only (D) 11, 111 and IV only
According to Kaldor’s technical progress function, which of the following is NOT true?
.There is no ceiling on growth rate of output per worker

(B) It explains the relationship between per capita output and capital
(C) There is ceiling on the growth rate of output per worker

(D) Rise in capital-labour ratio leads to technical progress

If the price indices of imports and exports of a country, in the current year, are 120 and 160
respectively; the net barter terms of trade of the country show an improvement of

(A) 13 percent over base year (B) 23 percent over base year

.33 percent over base year (D) 43 percent over base year

The ratio of the total value of exports divided by the price index of imports denotes
.Income terms of trade (B) Gross barter terms of trade

(C) Net barter terms of trade (D) Real cost terms of trade

Who described the case of immiserising growth in the context of terms of trade and gains from
trade?

(A) J.S. Mill (B) Jacob Viner
(C) Taussig .Jagadish Bhagawati
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(C) YHN L1612 (D) YHON 24 A1 5L 24891
gl ousl deuni s Aflan (R iaq Adad yreufid s a5 9 ?

i saler/eua i @2l @AM uldeial i 2nad adusauasoll ur uldeiy
LA A5l A1 Fael uie 2.

(A) $5L i (B) 5 i

(C) 5 ii A iii @ i v
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215. A tariff shall improve the terms of trade of the tariff imposing country if the elasticity of the
other country’s offer curve is

.G reater than unity and less than infinity
(B) Equal to unity

(C) Less than unity

(D) Less than zero

216. If the product of supply elasticities is greater than the product of the demand elasticities,
devaluation will cause

. Improvement in country’s terms of trade
I1. Deterioration in country’s terms of trade
I11. No change in country’s terms of trade
Choose the correct answer:

(A) I only .II only
(C) 11 only (D) I 'and 11 only
217. Exports of services and imports of services in the balance of payments of a country represent
(A) Balance of trade .Invisible trade
(C) Capital account balance (D) Surplus in balance of trade

218. Capital receipts and payments (capital account entries) in the balance of payments of a country
refer to

(A) Exports of goods
(B) Imports of goods
(C) Exports of services and imports of services
.Borrowings from and lending to foreigners
219. In the context of adjustment mechanism of disequilibrium in balance of payments
. Monetary policy proved to be ineffective during 1930s deep depression
I1. Fiscal policy proved to be effective during 1930’s deep depression
I11. Monetary policy proved to be effective during 1930’s deep depression
Choose the correct answer:
(A) I only (B) 11 only
.I and 11 only (D) 111 only

220. According to Marshall-Lerner condition, for a positive effect on a country’s balance of payments,
the sum of the elasticities of demand for its exports and imports has to be

.Greater than unity (B) Less than unity
(C) Equal to unity (D) Less than unity and infinity
221. Which of the direct control instruments can restore equilibrium in the balance of payments of a
country?
I. Quotas Il. Foreign exchange restrictions  11l. Restriction on import licenses
Choose the correct answer:
(A) I only (B) 11 only
(C) I and 111 only @ nandim
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222.

223.

224,

225.

226.

227.

228.

229.

230.

231.

A1 GIRL A%~ AL HIUAL UL ALEAUHT 2l 52 2N2d

(A) yeualta 52

@)l 52

(C) 2iysa Yeulld 52 211 AR 52

(D) ulRas 52

2ol 22As Gewert d al s (A2l wadl 2uad u uges ayaani 2ud © 4
(A) 215 ™ UYEs (B) 611G ™ ULYes

(C) HYA uYes @)x0ucus uges

‘o [Ag el ual NYes Yo AvAHL 20 dl, 2AUAS BEldL Y, YN 24 U0 o1l o 8 21 [Qin
sl 6 ?

(A) %312 M2ad) @G <0002

(C) 841R (D) Scag

{3l 2ulds (sl ugld oot 56 Add [Asa-) 2d 2 ?

(A) 8l 211 5 a2 Ad@ 501 A53u [Rldamusda

(B) 2 as-lél wala

(C) 151, dart 211 Uil L™ UHRL Add

@)1 >t 2w a2 yru mdsall Ruldausda

YU sgeHl ARSI gL 1y Ysanll 8es vied

(A) 4l WA (B) HSYA 2ds

@ 3ua vl (D) ¥ »uas

WTO -l 23411 d2$ €13l %Rl §5e Utard]l Hzen as sdl d

(NERNEIELS (B) 2154l ABG~3

(C) an AG~s @)Go1/620d uB~s
WTO ~u eur¥ 44l ¥, (Ministerial conference) My, dloald 2amn
@) 121, sovian (B) 6yl 3

(C) ARl (D) tuell

AdR Rl &xt Ae e sielln sas-l wdla Hulel ydanen siql e qoiffd © ?
(A) 282 G-l e92-ll Al (B) 28R weurit e92-il flw
(C) us1uil-) t9e-ll A @21 92 N

52 2R+l alg e 52 vuasll als »1eq

(A) Rafausdl 52 @co: 2

(C) gl (Quid Pro quo) (D) $R d@s

20104 i [Rgre vl 1A s usRui 2ud € ?

(A) N8R WA (B) vl W

@iou e/ gaan wa (D) M wa
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222.

223.

224,

225.

226.

227.

228.

229.

230.

231.

Duty charged by the government on the basis of weight and measurement of the commaodity is
known as

(A) Ad valorem duty

.Specific duty

(C) Combined ad valorem and specific duty
(D) Transit duty

Tariff levied on imports of foreign goods competing with the domestic products of the country is
known as

(A) Single column tariff (B) Double column tariff
(C) Revenue tariff .Protective tariff

‘If foreign competition is kept out by tariff, the domestic industry tends to become sluggish, fat
and lazy’ - stated by

(A) Jagdish Bagawati @ <indelberger
(C) Haberler (D) Ellsworth

In Meade’s model of economic growth, which of the following is NOT a condition for achieving
steady growth?

(A) Unitary elasticity of substitution between capital and labour

(B) Neutral technical progress

(C) Proportion of profit, wages and rent saved are constant

.Zero elasticity of substitution between capital and labour

In Union budget, interest payments by the government is a component of

(A) Capital expenditure (B) Revenue receipts

.Revenue expenditure (D) Capital receipts

Dunkel proposals, which led to the formation of WTO, were negotiated in

(A) Kennedy Round (B) Tokyo Round

(C) Dillon Round .Uruguay Round

The Twelfth Ministerial Conference (M-12) of WTO, will be held at

. Nur-sultan, Kazakhstan (B) Buenos Aires

(C) Nairobi (D) Bali

In the area of public finance, Colin Clarks’ critical limit hypothesis is concerned with
(A) Tolerance level of public borrowing (B) Tolerance level of public debt

(C) Tolerance level of subsidy .Tolerance level of taxation

An increase in the tax revenue with the growth of the tax base is known as

(A) Elasticity of tax .Tax buoyancy

(C) Quid pro quo (D) Tax multiplier

Expenditure on health and education comes under which of the following categories?
(A) Public goods (B) Private goods

.Merit goods (D) Mixed goods
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232.

233.

234.

235.

236.

237.

238.

239.

240.

241.

WsLs-AS sH A et et wlell Aeu i B2 R-U s yduieu sHed

@ (czeuu 22 (B) 5= t92+ll

(C) A& 2xnu2 (D) vsls0 A2

$ELAL A ARSI a2 [5a2 Wi/gsa-l Al Jou [Auu-ag © ?

(A) w598l a1 axda-u Rugia @ o Rgia

(C) uurL Ayel wie [Rigia (D) a3 AlHid viie [Rugid

AL $RAURAARL YR 52 8 5

@2+ anl se Yl S dlowargu duat (uaui auRl
(B) 5241 atRi-l 8 Yl 516 Aogazg-il dArRi-l Guasi v218l

(C) MegargHi Baures gil 2ud el [Buani aaisi

(D) Mogargru Gewes g1 2001d WLl Buaui Raa

DAl 5§ ydau yoror u59 WA Add RUR Ald ol audl uid pest e o lH ad © ?
(A) @zl ydareu (B) s1a2--l ydauu

(C) sis-auS pun-l ydaurun @0 ydarau

stalers -uRli-l 622 5155 Ad 6121 AL dAA [P 247 S104311 AL 6, 20 Lld 2H2d

(A) [Raa Aoy wsdl

@21 24 2 0S8R v R dslad

(C) ~urti yasl A 1% €U dSldd

(D) 1% €41 2 vl WAL NHIRML dslad

Gy [S5-U H AR 52 UR-L AL R oliog-l Aqoiy 2Aald

@)z s002 (B) AUIRS $3CUR

(C) [Af2a s00R (D) HEHAS $AMIR

i o] 2 il diell ysaani 2ud 8, d ugld x12d

(A) 3uidR @uza 524/ RsRa

(C) »1d1512 (D) @it wledl

576 AR, [AlAs-gad

@is el ay uRusadal xal €ia 8. (B) 91 [Bauafl 2t uRusad Aald siu .
(C) 31 [Ba-ll uRusad xalt giu €. (D) 181 [2aud) 211l uRusaar 21ald giu €.
ARSI % BAA [Rud AHUUOW GUE YRd Ysadld Sl 4R & d

(A) [fRseq (B) wAlfased

@ [a2u wa (D) 2uldgu w0

A% ASIR GIRA 5 AEAH 2R 52 AAS A A UL 5y 01y Al ?

(A) $M 2uasdl (B) caaulds Azl

@-uas (D) Metsd u: 2
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232.

233.

234.

235.

236.

237.

238.

239.

240.

241.

Peacock-Wiseman’s hypothesis of a movement from the older level expenditure and taxation to
a new and higher level is known as

. Displacement effect (B) Tax tolerance

(C) Inspection effect (D) Concentration effect

‘Quid pro quo’ between the tax payer and the government is the main theme of

(A) Ability to pay theory .Benefits received theory

(C) Equal absolute sacrifice principle (D) Equal marginal sacrifice principle

Forward shifting of tax implies

.Increasing the sale price of a commodity to the extent of increase in tax

(B) Reducing the sale price of a commodity to the extent of increase in tax

(C) Reducing purchase price of inputs by the manufacturer of a commodity

(D) Keeping purchase price of inputs constant by the manufacturer of a commodity

According to which of the following hypotheses, government expenditure does not increase at a
steady rate continuously but by jerks and step like manner?

(A) Lerner’s hypothesis (B) Dalton’s hypothesis

(C) Peacock-Wiseman’s hypothesis .Wagner’s hypothesis

The aim of functional finance is to regulate and control the economy by way of
(A) Providing input subsidies

.Variations in tax rates and volume of public expenditure

(C) Variations in money supply and interest rates

(D) Variations in interest rates and the volume of private expenditure
According to Mrs. Ursula Hicks, the direct money burden of a tax relates to

.Formal incidence of a tax (B) Effective incidence of a tax

(C) Specific incidence of a tax (D) Differential incidence of a tax

A method in which an old debt is repaid through fresh loans is known as

(A) Conversion . Refunding

(C) Repudiation (D) Buying up loans

The Funded Debts of the central government will have a

.Maturity of more than one year (B) Maturity period of less than 91 days
(C) Maturity period of 31 days (D) Maturity period of less than 181 days
The debt which the government undertakes to pay back after a fixed period of time is known as
(A) Funded debt (B) Unfunded debt

.Redeemable debt (D) Irredeemable debt

Which one of the following is NOT correct in respect of imposition and collection of tax by state
governments?

(A) Agricultural income tax (B) Profession tax

.Income tax (D) Tax on property
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242.

243.

244,

245.

246.

247.

248.

249.

56 ARIR gIRL AU A1 APEL 2l Man 527Ul afld

(A) wsusly Al Aulald (B) FRBM A[ula

@ au in (D) )Y AAi 531510 2011

$2 cugalll Ae e flA [Rdgnl ail :

i, usadl YRl saldan 1 i dan 52 dtgardl At S AIR AU AU ABIRA .
ii. 3vs U511 usadl YRUL satden 4 siu Hal 52 cigarrll [ARre 1 6.

DA ARl 0L gunt uRde s2.

(A) §5d i @i

(C) o= i A i (D) i 2 i widll 516 A&
197241 usiAd 2da “y (@l 2415 AW Yasl Quis

(A) HIZA 24m 518] 24 (B) flud sikun

[ REKIEUERRERER) (D) W. 3fas

D2l WA st g uR 2ul 8 5, 2ld Heradl dld B-udl g wlAs el a5, d qigild Awe 8, dui
weL B, 530 AL, AUEL 8 ?

(A) ARl Bwigld and: Rigid (B) da-licis duiR atd [Rugid
(C) Y5 AR [Agia @2

2id_AEA c1oaui Hivel2uyld as 224

(A) Bewlgt AMuanL as (B) uRewn dlstl as

(C) uRoin W as @) w22l sioLas

2019-200 iyl Ylau ysa ylRuq gz Yoot (aralds sege/zigle) anl 2017-184 2019-20 eRu-
i, HSYA uas Yl vuasdl awl ©.

i, Y8l vl YA WA sdL AR 69,

A A5l A1 el uie 2.

@5 i (B) s5d i

(C) o= i A i (D) i 2 i widll 516 A&

25 udaa 2018-19 uwdl, 2041 YHIHI cud-l g axdlui d- sl axdl (29-59 a)ui Sean
251l ARl A9l ?

(A) 50% (B) 55%

@02 (D) 63%

Q2o sy Hida eald © 5, Aleiolls il Wizwenddl st Beurg -l 2im Al ulEuii-l wdgld uz
2R & ?

(A) Bewgn A5 Wida @514 2ia2 Wida
(C) [uil-2s [Rda Gewg Hida (D) Gewrg~t [3ud AsundL Hida
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242.

243.

244,

245.

246.

247.

248.

249.

Grants-in-aid by the central government to the states are determined on the recommendations
of

(A) Monetary Policy Committee (B) FRBM Committee
@) Finance Commission (D) National Statistical Commission
Read the following statements on the imposition of taxes:

I. Both central and state governments have the power to impose taxes which are not mentioned
in the concurrent list

Il. The union government has exclusive power to impose taxes which are not mentioned in the
concurrent list

Choose the correct statements/answer:

(A) 1 only .II only

(C) Both I and 11 (D) Neither I nor 11
Author of the book “The Limits to Growth” published in 1972 is
(A) Maurice and Kofi Annan (B) Rachel Corson
.Donella H. Meadows, etal (D) P. David

Which of the following propagated that the most important way in which a nation could become
rich by acquiring precious metals, especially gold?

(A) Factor endowments theory of trade (B) Comparative cost theory of trade
(C) Free trade doctrine @) Vercantilism

An ‘Offer curve’ in international trade is also known as

(A) Production possibility curve (B) Factor intensity curve

(C) Factor cost curve . Reciprocal demand curve

As per the full-fledged Union Budget 2019-20 (actual/budget estimates) during 2017-18 to
2019-20

I.  Revenue receipts are more than capital receipts

Il. Capital expenditure is more than revenue expenditure
Choose the correct answer:

.I only (B) 11 only

(C) Both I and 11 (D) Neither I nor 11

According to Economic Survey 2018-19, by 2041, the percentage of India’s working population
(20-59 yrs) to total population will increase to about

(A) 50% (B) 55%
@02 (D) 63%

Which of the following models stated that most of the exports of industrialised nations are based
on introduction of new products and new processes?

(A) Product cycle model . Technological gap model

(C) Leontief input-output model (D) Factor price equalisation model
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250.  2018-19- 2ulls udarel 3ol suL AAuL 2018-194i U [Bud GuR §& alfld yeudl 2sicudl Al auR
&l ?

(A) eaiasiH
@208l 2naR Rasd 2 als A
(C) Gewrg
(D) vURSIH 24 Gevirin
251, 2ulds uda 2018-19-1 Rulg Yoot
i. GDP -l 9RlidR dil5 5% U1 ed Add 8l 7L 8.
ii. GDP -l 9RlinR dil5 5% U217, £d Add adl 2@ ©.
iii. 3v% U1 ed-uRusly 2AsA50 244 G211 GDP glgn 5120 GDP iR aél 28l .
QA ARl 0L punt uRe s
(A) 85 i (B) §5d i
@i A (D) 5 ii AR i
252, HSTH YA AU [SR0AE, A2l 7™ dH-lL adeLd s
(A) s1udl 1iel sall2ar [AfRma g2 gL 53 8.
@51 iR Rfud QR e gL s .
(C) 22l 3u AAlad sale (Al €2 gL 53 6.
(D) 21220l 3u [Af2aet [AlAma €2 gL 52 8.
253, NITI 2naioru 22l [Asiu qaul (SDGs) AR SRl S35 Ruld 2018, SDG Sl §-3suni

VAU A%AUL
(A) Gk uga A B @3- uaa uea 2 3
(C) AARUd 21 suUes (D) 8[Ruran 21 ulZm oioun

254.  ws [Aland yasis yeu deel DA U4 su Qe = e ?
i. CDI 11100 <l 923 giu
ii. CDIO (%) 24 1 a2 8iu
iii. 24 CDI Y& ay dx [Aldualay
iv. 24 CDI yeu 1y dH [Alaua ay,
QA ARl 0L guet uRe s2.

(A) 5 i 21 iv (B) $5 i, ii 2 iii
(C) 85 i, iii 211 iv @5 i > i
255. (A5 uda 2018-19+1 RULZ Yoot ad 2018-194i ¢uird 2l 2utd-l Aledl Higl wlld sai sa e ?
(A) USA (B) UAE
@ (D) B 20
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250. According to Economic Survey 2018-19, which sector accounted for highest percentage share in
Gross Value Added at basic prices in 2018-19?

(A) Construction
.Financial, real estate and professional services
(C) Manufacturing
(D) Mining and quarrying
251. As per Economic Survey 2018-19 report,
. Union government’s debt as a ratio of GDP has been consistently declining
I1.  Union government’s debt as a ratio of GDP has been consistently increasing

I11. Union government’s debt-GDP ratio is declining due to fiscal consolidation and high GDP
growth rate

Choose the correct answer:

(A) I only (B) 11 only
.I and 111 only (D) 11 and 111 only
252. In case of optimum currency area, a group of nations link their currencies through

(A) Permanently floating exchange rates

@) Permanently fixed exchange rates

(C) Temporarily managed float exchange rate
(D) Temporarily fixed exchange rate

253. According to NITI Ayog’s sustainable development goals (SDGs) India Index Report 2018, the
front runner states on SDG composite India Index are

(A) Uttar Pradesh and Bihar .Himachal Pradesh and Kerala
(C) Gujarat and Karnataka (D) Haryana and West Bengal

254, Which of the following statements are correct with respect to the value of Crop Diversification
Index (CDI)?

I. CDI ranges between 1 and 100

I1. CDI ranges between 0 (zero) and 1

I11. Higher the CDI value, greater the diversification

IV. Lower the CDI value, higher the diversification

Choose the correct answer:

(A) I and IV only (B) I, Il and 111 only
(C) I1, 111 and 1V only @) 11 and 111 only

255. Which country continues to be the largest source of imports of India in 2018-19 as per Economic
Survey 2018-19 report?

(A) USA (B) UAE
@) china (D) Saudi Arab
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256.

257.

258.

259.

260.

261.

262.

e-NAM il wafais Geal

(A) @[3 & (soil health/AiSa d¢a) s1$ [Adal

(B) ula t9i2 ay wis (per drop more crop)

(C) vigelir ws (BReey3 wisy

@il Sasgis vias 1 wle-sidrd2sid Y wsa

ANoAA, AR ANAAAL AALAA 2UALAS SR Y3 WY A 56 Alog-iiell Yoo BRa e ?
(A) nau--{l Slacy Al

(B) M3l 1o Aler

(C) el e Guitia il Slaed Al

@)= b 2umlast sils

WTO 5[ 5212+ 420 860 “Wigelid sauni 2uadl A1) 58’ 21 ol 08 40i8a & ?
(A) A61R BL5A @:0- viisn

(C) e s (D) 61 A GlLsA 2 21612 GlLSA
2185 udal 2017-18 Yol S1aui (A u-idd Gilfgs AU es-dl AR REa s3 9 3
(A) 850 AR UHS MIRA (Creative India only)

(B) U2~ (A5l YAAd srumi [@a AFa (World champion in securing patent rights)
(C) $5d ~dl @R (Innovative India only)

@)1 u%Fucis @R 19 dll ®iRd (Both creative India and innovative India)
auRdMl oAl Aeed a-u [Qanl g2

i, 5% UABIR viLdR GuR AsilAdl 20U 9.

i, A% U512 WLl Gu ueAd 2u 6.

A2 A5 dlnil 120 oL uie 53U,

(A) $5d i (B) 5 i

@i (D) i & ii niddl 516 Al

1949-50 9l 2016-17 £RALLL AUVUHI $UL AHAHI HIRA A51AHS AUIR Adart (Positive Trade balance)
UM B ?

(A) 1950-51 4 1970-71 @) 1972-73 2111 1976-77

(C) 1992-93 A 1995-96 (D) 1989-90 i 1994-95

44l vitarll 2iyel RRHAAS5ARBIAA S50 A 242dt 013 MELA s 1 Sl dl

i, sdaniell Yo eldoluq

i, ol wierwa Yo vrdals

jii. 231 al5aold ASRASIRAA vil2 2 22 SIUEL

A2 A5 dlni] 121 et uie 53U,

@5 (B) §5< i

(C) $5d i (D) 5. i A i
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256.

257.

258.

259.

260.

261.

262.

Primary objective of e-NAM is

(A) Distribution of soil health cards to farmers

(B) Per drop more crop

(C) Providing crop loans to farmers

.Providing farmers an electronic online trading platform

Providing requisite skills to poor for managing their institutions is the main objective of
(A) Pradhan Mantri Koushal Yojana

(B) Prime Minister’s Rojgar Yojana

(C) Deen Dayal Upadhyaya Grameen Kaushalya Yojana

.National Rural Livelihood Programme

‘Direct payments given to farmers’ under ‘Agreement on Agriculture’ of WTO relates to
(A) Amber box .G reen box

(C) Blue box (D) Both green box and amber box

According to Economic Survey 2017-18, the Intellectual Property Rights Policy adopted by the
Indian government in recent period aspires towards

(A) Creative India only

(B) World champion in securing patent rights

(C) Innovative India only

@) Both creative India and innovative India

Read the following statements regarding subsidies in India:
I. Central government provides subsidy on fertilizers

I1. State governments provide subsidy on water

Choose the correct statements/answer:

(A) I only (B) 11 only

.Both I and 11 (D) Neither I nor 11

During the period 1949-50 to 2016-17, in which period India experienced a positive trade balance?
(A) 1950-51 and 1970-71 @) 1972-73 and 1976-77

(C) 1992-93 and 1995-96 (D) 1989-90 and 1994-95

Under full convertibility of capital account, if the economy does not perform well
I. Capital outflows from the economy

Il.  Massive capital inflows into the economy

I11. Few individual investors lose and the country would gain

Choose the correct answer:

.I only (B) Il only
(C) 11 only (D) I 'and 111 only
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263.

264.

265.

266.

267.

268.

269.

270.

271.

272.

w1~ udat 2017-18 Yoyt DAL UL 56 i oilZa sid-ulRud sudl2i-dl adl sil2 & ?

(A) NBFC N2N (B) NBFC 020

(C) NBFC M2M @) \BFC P2pP

H 20164i, FRBM &gl ulc-ll 1al tigcndan sida-n (u3u) ulRaw e (Aysd affa-u x1as
(NE BRI (B) aw. dl. 2l

@i iR (D) [Qoru 3as2

A2 WL 5§ Ao FRaHl 23 2da qi 2Wellis sildd Aaian 3«0l (Research Center for
Fourth Industrial Revolution) dios-iL <l ?

(A) 2uEBRAa S-2[a%-u (Artificial Intelligence)

(B) selis A 25-Udi® (Block Chain Technology)

(C) it (Drones)

@-\+12 (Robot)

2018-194i ¢uRAxl & dloull Gewrg i 21812 B+l (Renewable energy), (25 MW GuR-iL 131 Ui
[Rcu) estandl [Sxil.

(A) 6% @ 0%

(C) 15% (D) 20%

A WA sy [As-u 2 olu HidaA 2415 AlY’ (Two gap models of growth) i 4ei8d ¢ ?
@12q > (@2 el (AR dstad (B) t1ud i U4 dslad

(C) QURAL A dUIR d$lad (D) 51 2 AA2UR dSldd

AR51R gIRL dlAd 24 20 vigdl W2 gl 2eiaeirll aazandl vl 58 dlorunl M © ?
(A) oo daaly vior-u (B) el [y wior-u

(C) 2ABuRH) vaaly die- @) u=+ vnardly uio-u

QAU g Sl SRISH UL AU suL ASA Ul scumi 2udl ¢l ?

@12 w11 2ngiae (B) asien 1 euanalR

(C) 2R 24 A s (D) %113 A URiE

QA UA s [Asgud o 2naiorm Y 1R 200941 Ruid 29 531 aloll-u susan w2 sl ugld-dl
MRl 53 edl ?

(A) a1 [l o (B) 9ira g7l [Amia o
@52 i ogn (D) R Rt o
D2l WA 5y AYsa A2, Ul uularRL A-HIA S ?

(A) ARUa- Al 2ais (B) Aluu-y 2iis o4 Aals
(C) Alu~ s A AAclS @) Fuu- wils 219 Al
‘saizi wiisia’ sidl e qviRa 9 ?

(A) wir2 U2y

(B) Wiz 4 A4 (MFN)
@lus arrn 211 sdioa alliol
(D) [Astn 2ua10 uReuru
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263.

264.

265.

266.

267.

268.

269.

270.

271.

272.

As per the Economic Survey 2017-18, which of the following is a new category of non- banking
financial companies?

(A) NBFC N2N (B) NBFC 020
(C) NBFC M2M @) \sFC P2P

The Chairman of the Committee appointed in May 2016 to examine the changed format including
FRBM targets was

(A) Amitab Kant (B) Y.V. Reddy

@ K. singh (D) Vijay Kelkar

Which of the following is NOT a project of the Research Centre for Fourth Industrial Revolution
launched in India?

(A) Artificial intelligence

(B) Block chain technology

(C) Drones

@) Robots

The percentage share of renewable energy (excluding hydro power above 25 MW) in total
electricity generation in India in the year 2018-19 was:

(A) 6% @ 0%

(C) 15% (D) 20%

Which of the following is related to ‘two-gap models of growth’?

.Savings and foreign exchange gap (B) Savings and income gap

(C) Consumption and trade gap (D) Profits and employment gap

Land transfer by government to disadvantaged and women farmers was proposed in
(A) Second Five Year Plan (B) Tenth Five Year Plan

(C) Eleventh Five Year Plan .Twelfth Five Year Plan

Which of the following cities in Gujarat state were selected under National Clean Air Programme?
.Surat and Ahmedabad (B) Vadodara and Bhavanagar

(C) Gandhinagar and Rajkot (D) Junagad and Anand

The Expert Group which submitted its report to Planning Commission in November 2009 and
recommended to review the methodology for estimation of poverty is

(A) Rangarajan Expert Group (B) Gaurav Dutt Expert Group
.Tendulkar Expert Group (D) Minhas Expert Group

Which of the following is the United Nation’s highest environmental honour?
(A) Champions of sea award (B) Champions of blue award

(C) Champions of green award . Champions of the earth award

‘Kyoto Protocol’ is related to

(A) Plant patents

(B) Most Favoured Nations (MFN)
.Global temperatures and global warming
(D) Export Import Licensing
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273.

274.

275.

276.

277.

278.

279.

280.

56 ARA/5A59 od Menna 53 9 5 Qs weulEu Azeutl Slsini 3uiddld 2 a5 © 21 uuda
A a3 s1d sau vid sA A5 9 ?

(A) Ry uHA (B) »uelle g alla
(C) wdoun s1s1dl %2 @) v seisidl o
2019-200 2iyel Y[Run sigeil w5 84,

(A) MidA 2040-41 YHlui 50 Z[Qun sia-] x12dA virilag

(B) MR 2029-30 YHlHi 10 [Blaunt stz veldat ei-iag)

@) vz 2024-25 Yl 5 [Baun Siaryg sedda iuag

(D) MiRdA 2024-25 YHlui 3 [B[aun stz veldat ei-iag

(i) vier AGRALEL 2 (ji) AR AAAS SAR - 2L 61 $UL $A/IA HIRLEY ?
(A) €1l &Rl A%+31L (Doha Declaration Agenda)

@) -ual Qe (Bali Package)

(C) sla 191 w41+ @imwu (Hong Kong Declaration Agenda)

(D) A1l user (Nairobi Package)

MRl [agell dwir lla 2015-204i [Rs1 auRald s

(A) 2013-144i 415.9 L1l 2019-204i 700 2401 YHl

(B) 2013-14%i 425.9 16199l 2019-204i 800 161% YHl

@)2013-144i 465.9 o1l 2019-204i 900 211 YL

(D) 2013-14%4i 495.9 2t4%¢ll 2019-204i 1000 161% YHl

aes 6is+ 2018 UL ‘S 215 $501 [Broyin S-350° Ul (UaAY SAUHL ANAL YASLS)
i, IR 190 22HI 774 54 8q

ii. e[ RS ealHi tuRd A 54 8d

LA A5l A1 Fael uie 2.

(A) 854 | (B) §5<t i

@i (D) i 2 ii niddl 516 Al

e WA 5y A St SRBA A AR 2UHIR ™ML 25 82s el ?

(A) il ula240 (New Processes) (B) nig §-51225942 (New Infrastructure)
@) 232udi (New Start ups) (D) ) M5 (New mindset)

Adl Gewg L Alla/Alaxi-u Ge /Gl

i. Gewer GDP Hi 25 sus1Mi 25% useulidil gl
ii. 215 susuil 200 Flaun sl Gell sl

2 A5 dlnil 121 et uie 53U,

@i (B) 85 ii

(C) i i A i (D) i 2t ii Hid) 516 &
(A2 yulaet [Ban 2019 -l [Qua-azg :

(A) A UNR (B) A nguat

(C) wulz2s ugna @3 usun
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273. Which committee/working group recommended that development financial institutions be
allowed to convert themselves into banks and cease as development banks?

(A) Narasimham Committee (B) Abid Hussain Committee
(C) Malegam Working Group .Khan Working Group
274. One of the aims of full-fledged Union Budget 2019-20 is
(A) Making India a 50 trillion-dollar economy by 2040-41
(B) Making India a 10 trillion-dollar economy 2029-30
.Making India a 5 trillion-dollar economy by 2024-25
(D) Making India a 3 trillion-dollar economy by 2024-25
275. (i) Food Subsidies and (ii) Trade Facilitation Agreement were the two main agreements of
(A) Doha Declaration Agenda
@) ali Package
(C) Hong Kong Ministerial Declaration
(D) Nairobi Package
276. Export target of India’s Foreign Trade Policy 2015-20 is to enhance from
(A) 415.9 billion in 2013-14 to 700 billion in 2019-20
(B) 425.9 billion in 2013-14 to 800 billion in 2019-20
.465.9 billion in 2013-14 to 900 billion in 2019-20
(D) 495.9 billion in 2013-14 to 1000 billion in 2019-20
277. In World Banks’s Ease of Doing Business (EODB) Index 2018,
I. India ranked 77t among 190 countries
Il. India ranked 1%t among South Asian countries
Choose the correct answer:

(A) I only (B) 11 only
.Both I and 11 (D) Neither I nor 11
278. Which one of the following is NOT a component of four pillars of ‘Make in India’ programme?
(A) New processes (B) New infrastructures
.New startups (D) New mindset

279. The objective/s of New Manufacturing Policy is/are
I.  To enhance the share of manufacturing in GDP to 25% within a decade
I1. To create 200 million jobs within a decade
Choose the correct answer:

.I only (B) 11 only

(C) Both I and 11 (D) Neither I nor 11
280. The theme of world environment day-2019 is

(A) Water pollution (B) Sound pollution

(C) Plastic pollution @) Air pollution
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281.

282.

283.

284.

285.

286.

287.

288.

UM RIS (Regression co-efficent) Ae® 1AL [Rdg-l ail :
i Gse AR RIS Hsdl U0 Slall AH .

i, ol AdsR RIS sl ay ¢is as.

i, AR LS WU wRad el Ysqa 8.

iV, o AL ARis L [t A3l IS a3,

QA A5l vilel s urie s2U.

(A) $5d i, i 27 iv (B) 55 i, iii A1 iv
@i, i 24 iv (D) 5 ii 21 i
$14 2543 (Chi-square) 222 g™ NA-umidl sy iy Al ?

(A) 2 B quls 222 6.

(B) dd adllsa 2 tglay adllsa-l wulleq gl 8. (Limiting approximation of multinominal
districution)

@ As 222 8.

(D) d adllsw 222 69,

BUIR HEL Q; = 80 A Q = 15 HUAH 21y, 8, L Ay [Audr s yeu
@o.23 (B) 15

(C) 0.64 (D) 30

2i59UB1d U121 (X ) = 940 44 WY [dRan (o) = 220 i Qu? diis (42 1L (Coefficent variation
- CV) 524l

(A) 20.53 @24

(C) 24.31 (D) 25.62

Sla U812 as-l auHL adlls@mium-a adflsw

(A) 15 > i > sgas (Mean > Median > Mode)

(B) H[Rast < Mt < 6igas (Mean < Median < Mode)

@) (251 = e = ugas (Mean = Median = Mode)

(D) HulRs < W > tigas (Mean < Median > Mode)

%l Ixy = 340, n = 5, 6, = 2 21 6, = 50 AsAotd s (Coefficent of correlation) (r) 4R6R

(A) 0.5 (B) 0.6

@o.ss (D) 0.75

o AU 514 43U C = a + b, %l C = auLa (consumption) 244 Y = 24 (income), dl ‘b’ xA2d
(A) auia el uaa ualk @ vz e Auia ugla

(C) tiud Wl na ualk (D) AsLR Qs

AHBAR RIS AHLSW Y = 58 + 3.2 X Hi A5 Su-dld A2t (Y) 241 [Asuun (X) 8. R [Asuun wd
3 15 qrs la iR Aculad dam

(A) 58 vt (B) 61.2 cmt
@106 (D) 110 cumt

AJT - MASTER ] 47 P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


281.

282.

283.

284.

285.

286.

287.

288.

Read the following statements with regard to regression coefficients:

I.  One of the regression coefficients must be less than one

Il. Both the regression coefficients may be more than one

I11. Regression coefficients are independent of change of scale

IV. Both the regression coefficients may have different signs

Choose the INCORRECT statements:

(A) I, Il 'and IV only (B) I, 111 and 1V only
.II,IIIand 1V only (D) 11 and 111 only

Which of the following is NOT true in respect of Chi-square test?

(A) It is a non-parametric test

(B) Its distribution is a limiting approximation of the multinomial distribution
@)1 is a parametric test

(D) It is distribution free test

Given the values Q3 = 80 and Q; = 15, the value of coefficient of Quartile Deviation is
@o.23 (B) 15

(C)0.64 (D) 30

Given arithmetic mean (X ) = 940 and standard deviation (o) = 220, the value of co-efficient of
variation (CV) is

(A) 20.53 @24

(C)24.31 (D) 25.62

In a symmetrical distribution or bell-shaped curve/normal distribution,

(A) Mean > Median > Mode

(B) Mean < Median < Mode

@) Vean = Median = Mode

(D) Mean < Median > Mode

Given Xxy = 340, n =5, o, = 2 and o, = 50; the value of coefficient of correlation (r) is
(A) 0.5 (B) 0.6

@o.ss (D) 0.75

If the consumption function is of the form C = a + bY, where C = consumption and
Y =income; and ‘b’ is

(A) Average propensity to consume .Marginal propensity to consume
(C) Average propensity to save (D) Investment multiplier

The regression equation, Y = 58 + 3.2 X, relates to sales (Y) and advertisement (X) of a company.
The likely sales of the company when advertisement expenditure is Rs. 15 lakh

(A) Rs. 58 lakh (B) Rs. 61.2 lakh
@Rs. 106 lakh (D) Rs. 110 lakh
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289.

290.

291.

292.

293.

294.

295.

axu Aell [A=de Yool (Time series analysis)
i duldmn ey 2 yo Wl dl ansiedlsadl ulzan 5wl (centering) sSami »ud 6.
i [glau L (second degree) uraaa A [Bin vy aquid GerseL 9.

jii. 2l vu 21 qaR uglanl Guaion s34 wid s3¢l v Aditn uloU 3w (line of best fit) sScumi
U4 €9,

iv. [aldu wHua (second degree) uRagu i vllu aaerd Gersw €9,

2 A5 dlnil 121 oL vie 530,

(A) 5 i, i A iv (B) $5c i ¥ iv

@i, ii 24 ii (D) 5 ii 21 i

A=A U4 s Gergwl visisiell s Wdd ¢ (Simultaneous equation models)

i SRR A 24 2uas ARk

i, W02 YRasL HIZA

i, Yau vteddag A58 2 vlAd HIZE

iv. -ugu-dd- 244 eua-[Raie [FRaw as wida

A2 A5 dlnil 2121 oL uie 530,

@i i 2iv (B) $5ii, iii 2 iv

(C) 85, ii A iii (D) 854 iii 21 iv

215u-1 usi-l Ma SR Sl

@2 20w il ydeud 1512 Gla

(B) R 2uudl 41l ydrueun 2l el

(C) R 2uudl widl ydreun el el

(D) 1R 2uudl Widl ydapud sl sl

30 5l HALESL 5 wAlrll AHARAAL He Tl A5G0 $2a1 W2, 20Ul GuulaL 5314 1A,

@ -2 (B) ‘z’ - 222

(C) s1u-25d2 22 (Chi-square test) (D) F -2

183 dlee 2842/Ordinary Least Squares (OLS) <l D12l U4 ¢ seu =l <) ?

(A) L 9212 [BHd 5165 UL ALSSA AHUNOUHL YA 9.

(B) €35 AHANUHL P o AlA Add 28 6.

@4 pi 7 (e iz ©.

(D) p A aulicns Ad/Adid] ad 69,

viellya vilu YastL s& (Linear Supply Function) Yi = 33.75 + 3.25 X;, %4l Y = Yyasl, X =[3ua,

X =921 Y =63 i Yasi-l GuaIUSAL HRIGR

(A) 0.36 @o.4s6

(C) 0.56 (D) 0.66

oA 3wsH A -l B 515w AlssA AnaououHi wididl [Bud 08 wqoilfd sia R d yaud
(A) ASIRAHS ASAGIY (B) et miel

@)-cusivin (D) 4 3ullu varudl gl
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289.

290.

291.

292.

293.

294.

295.

According to time series analysis,

I.  The process of synchronisation of moving averages and original data is called centering
Il.  Second degree parabola is an example of non-linear trend

I11. The line obtained by using straight line trend method is called the line of best fit
IV. Second degree parabola is an example of linear trend

Choose the correct answer:

(A) I, 111 and 1V only (B) land IV only

@ 11 and 111 only (D) 11 and 111 only

Which of the following are examples of simultaneous equation models?

. Keynesian model of income determination

I1. Demand and supply model

I11. Investment and saving model of macro economics

IV. Phillips curve model of money-wage and price determination

Choose the correct answer:

.I,II,IIIand v (B) I, 111 and IV only

©) I, Il and 111 only (D) 11 and IV only

Type-1 error is committed when

.We reject a true hypothesis

(B) We accept a true hypothesis

(C) We accept a false hypothesis

(D) We reject a false hypothesis

In order to test the significance of small samples of size less than 30, we use

.‘t’ - test (B) ‘z” - test

(C) Chi-square test (D) F - test

Which one of the following assumptions of Ordinary Least Squares (OLS) is NOT correct?
(A) The mean value of p in any particular period is zero

(B) The variance of y; is constant in each period

.The variable y; has a skewed distribution

(D) w is independent of explanatory variable(s)

Given the estimated linear supply function Yi = 33.75 + 3.25 X;, where Y = supply, X = price,
X =9and Y =63; the price elasticity of supply is

(A) 0.36 @o.46
(C) 0.56 (D) 0.66

If the value of random variable, n, in any particular period is correlated with its own value(s);
it indicates

(A) Positive correlation (B) Multicollinearity
.Autocorrelation (D) Best linear unbiased estimate
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296.

297.

298.

299.

300.

-\

oA [Qareucns A Ayel udl vy AsAbi[Ed siu dl
i uReusl A Rd o 8.

i, 21eu-v{gl AlkA ugld 42 (Method of least square)

i, €35 ulRaeL W2 Avarcus YUl gy x1adl qoudl as

iv. 250 ouunl [Blana as $uan AL drs ngll cuagi soidl i 6.
AL A5l A1 Fael uie 2.

(A) $5L i (B) $5 ii
@:sivrii (D) i, ii A iii
Al Al 21y Adi-l wisA (2dw) 2ald

(A) icdld a4 (B) bugL A

(C) 3su A4 @):+\/o1ruadl aa

ol AUHLSAURL RIS AHLSW UMY, = Vi + g, dl d

i. s WA 33U dls Hda (Random Walk Model with drift)
i, (B [Ru2 uw g6l (Non-stationary time series)

2 A5 dlnil 120 oL vie 530,

(A) §5d i @i

(C) o= i A i (D) i 2 i widll 516 A&
ol Am3H aAls HISA A5 (ls2) aaR gl 1 ui islda sid dl d-)l Rald
@ (B) 2l

(C) GUHS AHIAUR (D) s Yo Hida
oflo BisH AU ARl GUR AsH YN uHA ALl AHnUR vied

(A) @llga 2ira-do 222 @-:isan

(C) adllga RA-sar 222 (D) & yaeu usla
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296. If the explanatory variables are perfectly linearly correlated,
I.  The parameters become indeterminate
I1. The method of least squares breaks down
I11. The numerical values for each parameter can be estimated separately
Choose the correct answer:

(A) I only (B) 11 only
@' and 11 only (D) 1, Il and 111
297. Proxies for other variables included in an equation are known as
(A) Endogenous variables (B) Exogenous variables
(C) Random variables .Dummy variables
298. I the regression equation is of the form Y; = Y4 + ¢, thenitis a

I. Random walk model with drift
I1. Non-stationary time series
Choose the correct answer:

(A) 1 only .II only
(C) Both I and 11 (D) Neither I nor 11
299. If the random walk model without drift is integrated once or integrated of order 1, then it
becomes
.Stationary (B) Non-stationary
(C) Spurious regression (D) Unit root model
300. Regression of a unit root time series on another unit root time series is known as
(A) Augmented Engel-Granger test .Cointegration
(C) Augmented Dickey-Fuller test (D) Error Correction Mechanism
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